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Abstract

Efficacy data from fermented crickets. Manure and vermicompostl' Sadigg
affecting planting marigolds. The experiments were conducted at the house number
153/14. East.., Muang. Ram on June 1, 2559 - On August 27, 2559 using a randomized
completely (Completely Randomized Design, CRD) divided by the experiment. repeat
the process four out of four fertilizer fermented Control (T1) fertilizer manure cricket.
50ml / water 500ml (T2) (Sadigg manure fertilizer. 50ml / water 500ml (T3) and liquid
fertilizer worm. 50ml / water 500ml (T4) results showed that. The height at the age of
57 days difference was statistically significant (p <0.01), and the age range of 50 and
64 the difference was statistically significant (p <0.05), but it is likely that fertilizer
value. Sadigg 50ml / water 500ml (T3) is the height of the marigold is the most
valuable is 70.88 cm inferior to the fertilizer value of cricket. 50ml / water 500ml (T2)
68.81 cm, waste water worm. 50ml / water 500ml (T4) 63.81 cm and the average
height of a minimum of fertilizer and compost Control (T1) 40.50 cm, at the age of 50
and 74 days, the difference was statistically significant (p <. 0.05), but is likely
Fertilizer value Sadigg 50ml / water 500ml (T3) with an average height of 90.81 cm is
the most minor cricket manure fertilizer. 50ml / water 500ml (T2) 89.38 cm, waste

water worm. 50ml / water 500ml (T4) 83.19 cm and the average height is less



fertilizer is fermented Control (T1) 51.31 cm.The canopy width tends ages 50 and 57
days difference was statistically significant (p <0.05), but it is likely that fertilizer
Sadigg information. 50ml / water 500ml (T3) with the canopy width to a maximum of
34.69 cm inferior to the fertilizer value of cricket. 50ml / water 500ml (T2) 31.56 cm,
waste water worm. 50ml / water 500ml (T4) 29.19 cm and the average height is less

fertilizer is fermented Control (T1) 18.44 cm at 64 days showed that the
average width of the canopy. No statistically significant difference (> 0.05).

The weight tends to age 64 (first edition) difference was statistically significant
(p <0.05), but that trend. Fertilizer manure cricket 50ml / water 500ml (T2) with an
average weight of fresh flowers is 112.50 cm inferior to the fertilizer value Sadigs.
50ml / water 500ml (T3) 95.00 cm, waste water worm. 50ml / water 500ml (T4) 90.00
cm and the average weight live with the least fertilizer fermented Control (T1) 0.00
cm (because they are not flowering) to 78 days (two versions) were average. the live
weight No statistically significant difference (> 0.05).

The dry weight by bringing flowers to the oven Hot air oven at 60 ° C for 24
hours, likely ages 64 and 78 days (first and second) difference was statistically
significant (p. <0.05), but that trend. Fertilizer manure cricket 50ml / water 500mL (T2)
with an average weight of dried flowers the most, followed by 26.65 centimeters
fertilizer Sadigg information. 50ml / water 500ml (T3) 25.57 cm, waste water worm.
50ml / water 500ml (T4) 24.53 cm and the average weight is less fertilizer is
fermented Control (T1) 0.00 cm (because they are not flowering).It was concluded
that the fertilizer value Sadigg. 50ml / water 500ml (T3) affects the height and width
of the canopy, fresh weight and dry weight. Can help boost growth, responsible for

the production of planting marigold 5011 Golden Jubilee.



